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INSTRUCTIONS TO THE EXAMINEE

1. The Question-cum-Answer Booklet comprised 3. Question-cum-Answer Booklet-4 @G gofh 2|
of 40 Questions and each Question carrying witrz g2 2Afefb ersta wia s (99) |
1 (one) mark.

2. Fach Question possesses 4 (four) Answer 3. 2 #mia & 8 (512)% @7 Option (A), (B), (C)
Options (A), (B), (C) and (D) of which only one AR (D) A, O3 WK 9T Afdes Taa e Fard |
option bears Correct Answer.

3. Completely darken the respective circle for your . Ae Tarma T S gebee o) gt ST
response as shown below— FICE 29 T5 AT T —

Correct method @ Wrong method@ ® O wis ate @ o7 %%@ ® 0

4. Each Correct Answer will be credited with 8. e #ihe TaEd i > (9F) |
| (One) Mark.

5. If an Examince attempts more than one Option . 7 e AFrEd aol aeE adfis Ted (71
for a Question, the attempt will be considered as TigrE (1 el Ted B 514 74 |
WRONG Answer.

6. No Mark will be deducted for attempting Wrong ©. T TErad & (FeH =9 4 T A

10.

11.

12,

. No Electronic Gadget

Answer or Incorreet attempts.

. Only Blue/Black Ink Pen is to be used for

Answering Question.
(Calculator. Maobile
Phone. Laptop, [-Pad, Camera etc.), Papers
(Other than Admit Card) will be allowed inside
the Examination Hall.

. No Loose sheet will be provided for scribbling

and No Paper is to brought in this purpose. Any
Examinee found with incriminating Documents
in his/her possession— he/she will be Expelled.

All rough work must be done in the page
provided in the Question-Answer-Booklet, and the
said Page of the Booklet must not be torn out.

No Examinee will be allowed to leave the
Examination Hall until an Hour has elapsed from
the commencement of the Examination.

As per order of the Executive Council all Answer
Scripts will be preserved for one year from the
date of Publication of Results.
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1. The domain of definition of the function

Flx)=vx—1+5-x is

2. Which of the following functions is an odd
function?
(A)
(B) xsinx
(C) cosx

Msinx

3. The period of the function f (x) = sin «x is
(A) 2
(B) m
- 2n
I T
(D) =

o

4
S % X i
4. The value of Iim — 18

£ 95 gt
vu!(} 0
(B) 1
€y -1
(D) =

5. If vy =% then dy '

dx
. v ]
NG x(l-ylogx)
B E
(B) _'\'(_]—.:.'lng,\f]
. v
© x(1+ylogx)
(D) :

v(1+ ,rlog_»_-_)

(5]
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6. Iff(x+3)=2"-3x+ 1, thenf(x+1)="?
(AY 2x*= 13x= 15
(B) 2x%— 11x+ 11

(2 26— 11x + 15

(D) 2x*+ 11x-15

2_
7. lim xig:';’

b

aerk yt —3x 42
(A) O

BT |

(€Y 2

(D) limit does not exist

[
8. J-|.r§d,r =4
-1

(A)

10
9. J(€+gRQm:?
=10
(A) 107
\J,B'Y 0
() -1
(D) - 10°
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10. The general solution of the differential
equation (y + x) dx + xdv = 0 is of the form
(A) x*+2y=c¢

(B) y*+2xy=c

\},ﬁ/)’ X+ 2xy=c

(D) xy=¢

11. The value of x for which .~.'m(2t:m'l x) =14
(A) 0
t)B’)'l

()

£03 |

(D)

12. Area bounded by the curve y? = 4x and the
straight line y = x 1s

(A) % Sq. units
(B) % sq. units

(C) % $q. units

\9)/% sq. units

3
13. J‘|.t+ 2|r.-‘_1'='?
bt |

(A) 6
(B) 8
(C) 10

\}Dfli

I14. The interval for which the function

(0 =20+ 9x7 4 12x + 20 is decreasing is

WWA-2.-1]

(B) [-1, =)
(D) None of the above

7 —
16. 1f _y:\/sin,r+V'sin.t'+Jsin.t+..,m‘ then

dy

dx

1 ;
17, lim —lag(1+2x)=7
vl 2x '

(A) ¢

| —

(B) -

(© *

\}9(1



. . dy
18. The general solution of (.-'_ =l-xy+y-x
dx

is of the form

2
\}M/Ii1|l+_\.'|=x—%+C

A

(B) In|l+ x| :_\-—% 50
(C) ]n:';1+y|:_r+%+C

(D) ln|l+x|: ,\’+%+C

19. I f[l_}:l-i-.l. ihién f(l) (1 2):
e 1+ £(x)]
|
(A) Z
.
(B) <
o L
W2
(D) 1

|x|
—, xz0 y
20. If f{.x]{x i then f(0), f(2) and

0 =0
f (- 2) respectively equal to
(A) 1,-1,1
\}B’_Y’U, 1,-1
¢ s O 0 ) (0|

(D) 0,-1.1

L]
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21. lim ! __‘.:"ﬂ.‘.“"_("‘_' -

a0 x*

¥

. osinTx-sinx
22, lim —————="

v—0 sindx

(B)

PO = L3 | B R |

(€)

(D) 1

| SRR
b |

-

ta | Ln

24, If f(x) = sin x then f'(0) equals to
(A) O
\}B')’I
(G 2
D) 3
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ceroy . Kceosx oom
25. If f(x) = — when x # :
= .3 when v -Z
2

then the value of K for which fis continuous is
(A) 5
BT 6
) 7
(D) 1

26. If v = sin (cos x) then d—\ =9
dx
(A) sin xcos (¢cos x)
\BT — sin x cos (cos x)
(C) cos x cos (cos x)

(D) cos .xcos (sin x)

I
27. The maximum value of x' is

(A) e

28. Maximum value of log.x 15
X
(A) ¢
N
e
oy 1

(D) 0

(6)

29. If ¢ being the constant of integration then

J.c:cnt 2 xdx =1

(A) —cosecx + ¢

\/((BT--CUI X—x+c¢

(C) —cosecx + x + ¢

(D) cos x+¢

30. If ¢ being the constant of integration then

-[ cotxde="7

(A) logcosx+c

\}B’_)/'Iog SN X + ¢

C) logsecx+c
=]

(D) log cosecx + ¢

31. J.f(.r)d.r = EJ._,!"[.r)r!.\' when
it i}

\}M [f(x) 18 even function

(B) fis odd function
41
J =

(D) 7(x) —r(—i]

(€ f(x)=

32. The order of the differential equation

dv 4 ;
——4y¥sinx=yv 1§
dx :
AT
(B) 2
(Cy 0
(D) 3



33. The curve whose slope L
dx

2y
——x>0,¥y>0
5

and which passes through the point (1, 1) is

(A) y=x

\)B'[ =gt
{C) yp=Lx
[D)y=é-

i o

1

34, j LA
et +1

0
(A) In2
(B) ¢
(C) —In2

M|ﬂ€+l

2

35. lim .rsinl_:‘?

X—F X

(A) O
(B) =

(C) does not exist

ﬁp{i

2
X

36. If Jf(x) = )
X
=K for x=0

forv =0

and if f (x) is continuous at x = () then K =?

(A) -1
BT
2

(C) 0

Dy 1
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37. If f(x)=16Vx then /"(4) is equal to

3

16
B) -
/ 2

(C) 0
(D) 6

38. If v=asinct + beoset, where a, b and ¢ are

5

constants then <2 =2
dr*

(A) ncz(sin.wcosr]

N
(C) ay
(D) —v¥

39. If f(x)=x"—4xthen £ (2) equals to
(A) 48
(B) 0

(& 24

(D) 16

40. The domain of the function f(x)= Va—
is
(A) x<—-2o0rx>2
(B) x<2o0rx22
(C) =2<x<?

P -2<x<2



